47) If the graph of the function f(x) = cosx is
stretched vertically by a factor of 2, then the new graph
represented the graph of the function is
Solution:

2cosx

48) If the graph of the function f(x) = cosx is
compressed vertically by a factor of %, then the new graph
represented the graph of the function is

1
5 €05 X

49) If the graph of the function f(x) = cosx is
compressed horizontally by a factor of 2, then the new
graph represented the graph of the function is
Solution:

cos2x

50) If the graph of the function f(x) = cosx is stretched
horizontally by a factor of % , then the new graph

represented the graph of the function is

X

oS
2

51) The graph of the function f(x) = v/x is reflected
about the x — axis if
Solution:

fx) =—V&

52) The graph of the function f(x) = vx is reflected
about the y — axis if
Solution:

fG) =V=x

53) If the graph of the function f(x) = e* is shifted a
distance 2 units upwards , then the new graph
represented the graph of the function is
Solution:

e*+2

54) If the graph of the function f(x) = e* is shifted a
distance 2 units downwards , then the new graph
represented the graph of the function is
Solution:

e*—2

55) If the graph of the function f(x) = e* is shifted a
distance 2 units to the right, then the new graph
represented the graph of the function is

56) If the graph of the function f(x) = e* is shifted a
distance 2 units to the left, then the new graph
represented the graph of the function is

Solution: Solution:
ex—2 ex+2
57)2?”rad=-23£x-u%0=120° 58)5?”rad=§6£x3—il=150°
59) ZZ rad = Zx 22 = 210° 60) 3Z rad = Z x 22 = 27¢°
6 6 1A 2 2 yis
61) 120° = 120 X = = 2Z rad 62) 270° = 270 X = = 3Z rad
180° 3 180° 2
Sn — 57 180 _ ope s — 5m, 180 _ p
63) = rad = S 75 64) - rad = o S 150 (Repeated)
65) 150° = 150 X = = >Z rad 66) 210° = 210 X = = = rad
- 180 6 180 6
67) = OrS 68) = sinx
selcx c§cx
69) — tanx 70) :;i =tanx
71) 22% = cotx

sinx

Solution:

72) If cosx=% and 0<x<§,then cotx =
3 adj
CoOsSx ===

w P
5 hyp 3

Now, we should find the length of the opposite side using
the Pythagorean Theorem, so
|opposite|= V52 —32 =25 -9 =16 = 4
1 adj 3
tanx opp 4

S ocotx =

73). If cosx=§ and 0<x<§,then tanx =

3 adj

COSX === ——

S X 5 = Top
Now, we should find the length of the opposite side using

the Pythagorean Theorem, so
|opposite] = V52 =32 =25 -9 =16 = 4
1 opp 4

~ tanx = =—=
cotx adj 3




74) if cosx=§ and O<x<7—2r,then sinx =

Solution:

3 adj

COSX = —==——

? 5 hyp
Now, we should find the length of the opposite side using

the Pythagorean Theorem, so

3Z=V25-9=V16=14

|opposite| = V52 —

75) If cosx=§ and 0<x<§,then cscx =

Solution:

3 ad]
cosx =z hyp
Now, we should find the length of the opposite side using

the Pythagorean Theorem, so
|opposite]= V52 — 32 =25 -9 =V/16 = 4

. opp 4 1 hyp 5
'. smx=m=§ A cscx=m——o—5}; 7
76) sin (5?”) = 77) cos (5?") =
Solution: Solution:
5 rad= S x 22 = 15¢° 5 rad = I x 28 15¢°

So, we deduce now that sin (—5—15) is in the second quarter.

sin (5 ) =sin(150") =sin(180° — 30") = sin(30") =
sinz6=12

So, we deduce now that cos (-56—") is in the second quarter.
5n 5 6 o
cos (——6-—) = cos(150") = cos(180" — 30°)
: s V3
= —cos(30") = —cos (E) e

5
78) tan (?) =
Solution:
511
6
So, we deduce now that tan( ) is in the second

d=—x —150
yis

quarter.

57
tan (=) = tan(150°) = tan(180" - 30°)

79) cot (5?") =
Solution

d_s—”xﬂ=150

So, we deduce now that cot (Eg) is in the second quarter.
5 . 3 @
cot (=) = cot(150°) = cot(180" ~ 307)
= —cot(30") = —cot(6 =—v3

5 T 1
= —tan(30°) = —tan (E) =-7
80) If sinx =§ and 0 <x < g,then secx = 81) If sinx =§ and 0 <x < g,then cscx =
Solution: 2 9 Solution:
sinx=—=2£E sinx=z=ﬂ
3 hyp 3 hyp

Now, we should find the length of the adjacent side using
the Pythagorean Theorem, so

Now, we should find the length of the adjacent side using
the Pythagorean Theorem, so

|adjacent|= V32 =22 =4/9 -4 =+/5 |adjacent|=V32 =22 =4/9—-4=+/5
1 hyp 3 1 hyp 3
. Secx = =—=— ===
cosx adj 45 X = Sinx opp 2
82) If sinx =% and 0 < x < g,then cosx = 83) If sinx =% and 0<x < E,then cotx =
Solution: W Solution:
3 _opp 3 3 _opp
siny =—=—— =—=—
g sinx 3 Top

7.
Now, we should find the length of the adjacent side using
the Pythagorean Theorem, so

Now, we should find the length of the adjacent side using
the Pythagorean Theorem, so

|adjacent|= V42 =32 =16 —9 =+/7 |adjacent]= V42 =32 =16 — 9 =7
adj 7 1 adj 7
" COSX =77 = — L cotx= = —=—

hyp 4 tanx opp 3




84) If cscx = -g and 3?” < x < 2m,then cosx =
Solution:
- ﬁB
SCX =g =—=—"—
3 sinx opp

Now, we should find the length of the adjacent side using
the Pythagorean Theorem, so
|adjacent|= V52 —32 =+/25-9=+vV16 =4

85) If cscx = —g and -3—;<x < 2m, then secx =

Solution:

5 1 hyp
SCxX=-=——=—

3 sinx opp
Now, we should find the length of the adjacent side using
the Pythagorean Theorem, so

|adjacent|= V52 — 32 =25 — 9 = /16 = 4

adj 4 1 hyp 5
- == . osecx = =—=—
cosx hyp 5 ¢ cosx adj 4
86) If cscx = —~:— and 3?” < x < 2m, then cotx = 87) If cscx = —g and 5275 < x < 2w, then tanx =
Solution: Solution:
5 1 hyp 5 1 hyp
CSCxX=0c=—7T"7"=— CSCXX = —=— S,
3 sinx opp 3 sinx opp

Now, we should find the length of the adjacent side using
the Pythagorean Theorem, so

|adjacent|= V52 —32 =25 —9 =16 = 4

_adj 4

tanx opp 3

Socotx =

Now, we should find the length of the adjacent side using
the Pythagorean Theorem, so

ladjacent|= V52 — 32 =25 -9 =16 = 4

1 opp 3

cotx - .@ T2

S~ tanx =

88) If f(x) =sinx,then D, =R

89) If f(x) =cosx,then D, =R

88) If f(x) =sinx,then Ry =[—1,1]

88) If f(x) =sinx,then R, = [-1,1]




